Depreciation Methods                                        Name:  _______________________________________

A.  Straight Line Depreciation  - Variable Speed High Pressure Homgenizer #1:   Acquired 1/1/2010.  Cost is $135,000; salvage value is $12,000, useful life is 5 years.

1. In words, how is depreciable cost for the straight-line method computed?     ____________________________

2. What is the amount of the depreciable cost  ____________________________________________________

3. Show your computation to calculate the annual depreciation expense.   ________________________________    

4.  Complete the following table:
	
Year
	Annual Debit to Depreciation Expense and Credit to Accumulated Depreciation
	
Accumulated Depreciation Account Balance

	2010
	
	

	2011
	
	

	2012
	
	

	2013
	
	

	2014
	
	



5. What pattern is evident in terms of the amount recognized for annual depreciation expense under the straight-line method?
		___________________________________________________________________________
			
6. What would change had the equipment been purchased on July 1, 2010, instead of January 1?

	__________________________________________________________________________________

B.  Units of Activity- Variable Speed High Pressure Homgenizer #3:    Acquired 1/1/2010 for $135,000.  Salvage value is $12,000.  Useful life is 5 years .  Total units of activity =  10,000 hours.

1. In words, what is the formula for calculating depreciable cost for the units of activity method?    


2. What is the amount of the depreciable cost?   ___________________________________________________ 

3. Show your computation to calculate the depreciation rate per hour.  _________________________________

4. Will the depreciation rate change from year to year?            YES                   NO

5. Complete the following table for the first four years the equipment is used:
	
Year
	
Hours
Used
	
Depreciation Rate
 per Hour
	Annual
Depreciation
Expense
	Accumulated
Depreciation Balance

	2010
	2,000
	
	
	

	2011
	2,200
	
	
	

	2012
	1,900
	
	
	

	2013
	2,100
	
	
	

	2014
	1,800
	
	
	



6. What amount must the balance in the accumulated depreciation account for this asset equal at year end 2014.
 
_______________________________


C.  Double Declining Balance Method - Variable Speed High Pressure Homgenizer #2:    Acquired 1/1/2010.  Cost is $135,000; salvage value is $12,000.  Useful life is 5 years. 

1. Is the salvage value used to compute book value (circle the answer)?               YES              NO

2. How is the double declining rate computed? (explain in words)     



3. Complete the following DDB table:

	Year
	Book Value
Beg. Year
	DDB
Rate
	Annual
Depreciation
Expense
	Accumulated
Depreciation Balance
	Book Value
End of Year

	2010
	
	
	
	
	

	2011
	
	
	
	
	

	2012
	
	
	
	
	

	2013
	
	
	
	
	

	2014
	
	
	
	
	




4. What amount must the balance in the accumulated depreciation account equal in 2014?  


5. How does the requirement from #5, change the annual depreciation expense calculation? (explaim)



6. Which method generally results in the greatest depreciation expense being recorded in the earlier years of use?
a. Straight-line
b. Units of Activity
c. Double Declining Balance  

7. In which year does the straight-line rate exceed the double declining rate?   ___________________

For the next two questions, assume assets, revenues and expenses are identical for each company, with the exception of the depreciation methods used.

8. Assume Company A uses the straight-line method, Company B uses units of activity, and Company C uses the double declining balance method. In terms of net income reported on the income statement, which company will report the smallest amount in 2010?   
			______________________________________________

9. Which company will report the largest net income in 2011?      ___________________________________         

10. For, 2012, which company will report the largest book value for property, plant, and equipment on the balance sheet?
		______________________________________
